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Reg.No. :

Name : :.....'......

R21U 017S

vl semester B.com. Degree (GBGSS. - Reg./supple'/lmprov')
Examination, APril 2021
(201 4-201 8 Admissions)

Gore Course
681S-COM : MANAGEMENT ACCOUNTING

Max. Marks:40
Time : 3 Hours

PART _ A

This part consists of four questions carrying th markeach' Answer all questions

in one word.

1. Sales - Cost of Goods Sold =

2.TheexcessofSalesoverBreakEvenSalesiscalled
is the ideal Absolute l-iquid Ratio'

4. Standard Labour Cost - Actual Labour Cost =
(%x4*?)

PART _ B

Answer any four questions in one or two sentences each' Each question carries

one mark each.

5. What is Margin of SafetY ?

6. What is Material Cost Variance ?

7. What is Flexible Budget ?

8. What is Break Even Point ?

g. what wiil be profit when cost is Rs. 12,000 and profit is 25% on selling price ?

10. Whai is the Fixed Cost when Break Even is Rs. 25,000 and PA/ ratio is 20% ?

11. The standard hours expected for a work is 6 hours @ Rs' 200 per hour' The

actual hours worked is 5 hours @ Rs. 230. calculate Labour cost Variance'

(1xi[=4)

P.T.CI.

12. Quick Asset = current Asset - (_ and 

-).
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1.20.000

1,Ofi,000,
Ar'e (Dr.)

PART _ C

Answer any six questions" Answer should not exceed one page eaeh. F=*Ir
question carries three marks each.

13. what are the technrques used in financial analysis of a company ?

14. What do you mean by Activity Ratios ? What are the important activity ratios ?

15. What are the preliminaries for the installation of a system of budgetary control ?
16' What is Management Accounting ? What are the functions of Manaqement

Accounting ?

17. Cost of Goods sold Rs. 80,000, Stock Turnover Ratio S times, closing stock is
Rs. 4,000 more than opening stock. Find out the value of opening stoek ancl
closing stoek.

18. P/v Ratio is 40"h, Break Even point is 50,000, Total sales is Hs.
Find out Fixed Cost, Variable Cost and profit.

19. From the following information, carcurate Debt Hquity Ratio.
Equity share capital Rs. 3,00,000, preference share capital Rs.
12% Debentures 3,00,000, General Reserve Rs. 1,00,000, p&L
Rs. 30,000, Preliminary Expenses Rs. 20,000.

20. From the following particulars, prepare a production budget of XyZ Co. ttd. for
the year ended 31 March 2012.

Prodr"let Sa!+**; (Units) as
pen $ales Budget

Estimated $tocks
01-04-2011 31-03-2013

1,00,000 10,000 5.000
B 80,000 4,000 8.000
r' 60,000 2,000 10,000

2"1. The following figures are extracted from the books of a manufactr:rrr:* {!rnr far
the year 2010-1 1 .

Direct Material
Direct Labour
Fixed Overhead
Variable Overhead

' Sales
Calculate the Break-Even Point. What will be the effect on BEP on an increase
of 10% in

i) Fixed Cost and
ii) Variable Expelses

Rs. 1,50,000
Rs. 1,00,000
Rs. 80,000
Rs. 50,000
Rs. 5,00,000



As on 91-12'2020n* ntt 31-'E*-?019
4.00,000

rqu'q;$1* gelltei
Debentures

1,50,000
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22 From the following informS*l' :1!9ljl?l
from financing activitied'

Particulars

Share Premium

Mortgage_!.g-?ll--""

ffi ff ff ffi ;;;fi ***:ll5::g';"^'i:il"1':g:1i3,3.%l'units
fJ'#-:Hl',flif:hffi ilil''*?, "t 

pi*o'.irg z,ooo units is Rs 52,000

24. ;;' ffi;; us?)se or nnateri3r i*. ??-.T'5, P^1",1.?":::"ilL,T*'Tl[1
[:T :s' i,fl *'8-r-i 

.i 
;:' ?:[il" t!,] fi"; ;i; c o't V ari an ce, M ate ri ar p ri c e

(3x6'(3x6=18)

Vuriot** aneJ Material Usage Variance'
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FART _ D

Answer any twCI questions' Answer shor-r|d n:ot exceed four pages each. Each

question carries eight marks eaclt'

?5" Explain Budg*ting What are the obieetives of budgeting ?

26. what do you mean by standard costing ? what are the advantages of standard

costirrg r

27' What is a Functiona| Budget ? What are the different functiona| budgets ?

2s.AGarmentretaileriscurrent|yselling3,00g.shirtsannually.Hesuppliesthe
iollowing interimation for the year enO-ed 3i March' 2010'

Sel|ingPrice;:ershirtRs'50,0,Var,iableeostpershirtRs.300
Siaff salaries fslr the year Rs' 1'20'000

GeneralOfficecostoftheyearRs'80'000
Advertising cost of the year Rs" 60'000 

L -^*+ i^Aanan^,
you are required to answer the follcwlng each part independently :

i)CatculatetheBreak-EvenFointandmarginofsafetyinsalesrevenueand

. i,) [|*lffi:ililt-.-.?J,1 *u,u sord in a year, rind out the net prorit or the

,,', lit'lt ,* decir,ecl to introdu-:,:?lllcommission of Rs' 20 per unit' how

many shirts weruld ,*qri,*o to ne joto in a year to Break Even ?

iv)Assr'rmingthatfortheyear?0"1]*11*ditionalstaffsa|aryofRs.50,000
is anticipared, anqj prici ni ttr* shirt is likelyto be increased by 10%' what

sttnt.llrJ he thre Br*ak Fven Foirrt in number of shirts and sales revenue'
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29' From the following information, determine the cash flow from operating dctivities
by Direct Method.

Trading and Profit and Loss Account for the year ended 91-03-2020
Particulars Rs. particulars Rs.

50,000 By Sales
3,00,000 By Closing Stock
2,00,000
5,50,000

40,000 By Gross profit b/d
20,000
60,000
80,000

2,00,000 2,00,000
Additional Information :

As on 31-03-2019 As on 31-03-2020
Debtors 40,000 60.000
Creditors 30,000 20.000
Sqlaries Outstandinq 4,000 6,000
Prepaid Rent 2,000 3,000

30. Prepare a Cash Budget from the following data for the month of Octobe r 2012.
Particulars Rs.
Cash in hand on 01 -1rO-2012

Sales for September 2012
Sales for October 2012
Purchase for September ZO|Z
Purchase for October 2012
Wages for October 2A12
Administrative Expenses for Octob er 2A12
selling and Distribution Expenses for octob er 2012 15,000

Purchases ar'e paid in the month following the month of purchase. 50% of sales
is realised in the month of sales and the remaining in the month following. (gx2=lg)

To Opening stock
To Purchases
To Gross Profit c/d

To Salaries
To Rent
To Depreciation
To Net Profit

4,80,000
70,000

5,50,000
2,00,000

45,000
1,60,000
1,50,000

60,000
' 90,000

20,000
10,000


